8 Profuccionl PROFESSIONAL EXAMINATION BOARD
@b examination Middle School Teacher Eligibility Test - 2018
board 18th Feb 2019 09:30AM

Topic:- Child Development & Pedagogy (CDP)

1) Which of the following is not a child-centered learning practice? / faf@d § @ sila-ar = m—ﬁsﬁ’a IRTH FT I Fl'eﬁ'
&

1. Make the student more active in acquiring knowledge and skills / Tl 3R plere 3foid =S & w17 B 30F aihy gamEn)

2. Make the student more aware of what they are doing and why they are doing it / ST &I 39 aR H 3D PRI &1 o T &Fr
R ® & AR ;= w @

3. Working under teacher’s direction and decisions / feteh & g 3R ATt & dgad HreT AT

4. Focus on interaction, such as the use of tutorials and other discussion groups / URETRH g -y T e Fga warn, 3w B
TgeIRTe 3R 3= Taf gl &1 3TAET AT

Correct Answer :-

« Working under teacher’s direction and decisions / Reter & Ader 3R Aokt & dgd DIH HIAT|

2) Which of the following is used in tests of attitude? / fFafaf@d # ¥ frueT 3uAer A=gfa & qderot F frar Jrar 32
1. Aptitude test / 3TTRETHAT TLr&ToT

2. Achievement test / 3TeTied TI&TOT

3.1Q test / AT THETOT (3MFY, CEC)
4. Likert scale / forepe Thel

Correct Answer :-

« Likert scale / ol Thel

3) Multicultural awareness in the field of education includes the appreciation for and understanding of differences in students in terms of
their . | T & A7 F SgAREG AR AR H IoAh ¥ "ot F ol A AqdEr B wwer IR wEen
anfae &1

1. skills and abilities / @12reT 3R &7

2. special needs and giftedness / fIAW 3TaeIhaTT 3R 3UER

3. socioeconomic status and religious backgrounds/ TTHATTGI -3fes et 3k ?JTﬁEFt[ES-@
4. behaviours and dispositions /w-crmaﬂwmm

Correct Answer :-

« socioeconomic status and religious backgrounds/ TToIeh -3fes Rufa 3k ?JTﬁﬁEFC[SS-]:@'

4) The anti-anxiety drug is a drug whose primary behavioral effect is the reduction of anxiety but it functions as Central Nervous System
(cNs)_____. / T&-a-Ta gaT, Tw Tt a1 B Forret mufire saasr wuma, fiar &) w0 ovar § afe a8 Fda dfer
(HieEs) ¥ =0 & BT T B

1. Activator/ 3cOReh

2. Depressant/ 3TdHIGh



3. Stimulant/ 3zt

4. Modifier/ TR
Correct Answer :-

» Depressant/ 3ddHIgh

5) Which of the following mainly causes children to fail in examinations? / Fafaf@a # ¥ Fia-ar qALT ™ ¥ TEay F gdawmat &
HEAGA N FT HROT go7dT &7

1. Environment in the classroom / &1 T TRALA

2. Physical strength / eTIR@® b

3. Fear of Examination / GXT&TT &l X

4. Lack of patience during examination / q308T & ﬂﬂﬁ NI Fr HaAY
Correct Answer :-

« Fear of Examination / G{I&TT &T 3T

6) “Learning by doing” is when learning is: / Y ARG a9 fﬁ?ﬂ % o9 UfRTH A= @Tﬂ %:
1. Teacher centred / f&Td Hfegd

2. Relevant and practical / UTTaIH 3R caraeRe

3. Passive and theoretical / AT 3R Tgifas

4. Rote or didactic / T&aT (e) a1 Rramwe

Correct Answer :-

« Relevant and practical / UTHTId IR cATTEIRE

7) Which of the following compares the human cognition to the working of a computer?/ frfaf@a & ¥ sia 3'7'-711‘\3'{ & FIHAGS
& fow A sepyfa 1 goen Fwar §?

1. Neural Processing / 3T TehaT

2. Network mapping / Jcad A0
3. Information Processing / AT Ushd
4, Mind mapping / A ATAATOT
Correct Answer :-

« Information Processing / {deIT UshdH

8) Children who deviate considerably from the normal children are known as / S =9 9T a4t @ T g E’FT ?, Bﬁ gq
T FH ST AT &

1. Autistic children / TR T (Hfefeed FRoge)
2. Abnormal children / AT I

3. Intelligent children / g%?ﬂ?f I

4. Exceptional children / 3TTYIROT a<d

Correct Answer :-



« Exceptional children / 3ATUROT g

9) Gender refers to the constructed differences in persons. / afFaar # 3o fAeaTdr3t Fr T (Q'ET) e
FIT B

1. Educationally / dfes v @

2. Emotionally / HTaeIlca® ¥0 &
3. Biologically / Sfa& ®q &

4. Socially / GTHTTSS T &

Correct Answer :-

« Socially / GTHATG §T &

10) The psychologist, who conducted experiments of trial and error learning, was i 3 AAdAS &, Dol yae-
T 3rftrerer & st vy wanfara frar am

1. Thorndike / UTTSTSH
2. Kohler / ?ﬁ%TvIT

3. Skinner / ek

4. Pavlov / UTdelid

Correct Answer :-

o Thorndike / auaiglszﬁ

11) The term Abstract Thinking refers to | 7HHIAT a7 Usg AFT ¥ gefT &
1. Personality / TaTthed

2. Attitude / AT

3. Intelligence / EjE'

4. Motivation / O30T

Correct Answer :-

« Intelligence / E‘{@'

12) The learning that happens in the formal environment is studied by ./ 3itraRe ararEver & g9 gt rftereT &
EART 3eAasT fFar S B

1. Anthropologists / ATAGTIATAT

2. Educational psychologists / f1&TT FAfa=T=
3. Clinical psychologists / ST FATAATAT
4. Social psychologists / TSI HATAATAT
Correct Answer :-

« Educational psychologists / TY&TT HATA=ATAT

13) Which profession uses the aptitude tests most? / @ ¥ ﬂﬁqﬁf ST FT F9¥ 30F IuAer frar Srar §2



1. Guidance Counsellor/ FTIET TRTFANH
2. Doctors/ Rifccae®

3. Lawyers/ Tehrail

4. Engineers/3al AR

Correct Answer :-

« Guidance Counsellor/ ARTET WRIHAAR

14) Which of the following theories of motivation does not focus in any way on biological aspects and needs? / fAFafaf@a & ¥
WO F1 F-a1 Ry, faw ggast A smaewaet w R o yeR @ cae HRa ad wwar 2

1. Drive theory / 3I5d Rrgia

2. Hierarchy of needs theory / 3TARIBATI & _gid &r UcTshd
3. Manifest needs theory / UcI&TdT & Bgia & maeFear @dr
4. Instinct theory / Tl IGES]

Correct Answer :-

« Manifest needs theory / UcT&TdT & TAGIA T IMAIRAT Tl &

15) Which of the following is not considered a cognitive form of learning? / fAFafaf@a # ¥ 8 A F1 v dAETCAS w9
SET AT S §?

1. Vicarious conditioning / UFZI'@?{FT 3-1?_@‘51?{ (RrhRarg wSrarfEer)
2. Latent learning / 37c3ch 379

3. Observational learning / f&woTcae 37T

4, Classical conditioning / QMTEIT 31'@3913' (FeITTAehel hETRITAIT)

Correct Answer :-

+ Classical conditioning / Q&A™ 3-]%3‘21?-!' (FTT APl HBIATIT)

16) Which of the following principle can be used to make the students curious about the topic?/ Fafaf@a & ¥ fvw ﬁa}n?r &1
39T Bl B e & R F 30qF a9 F e e S wwar

1. Already know / Tgel & TAT (3HTeRST &)

2. Willing to know / STt &1 gz (Fafelr g &)

3. Not willing to know / STial T §TaT gl (dic fafewr g an)
4. Don’tknow / UdTl & @ (Slec &)

Correct Answer :-

« Don’tknow / UAT & BT (3¢ &)

17) Which of the following statements is true regarding a Constructivist classroom? / i@ & ¥ sla-a1 Fy9 TTEEE
(FreiFefare) Fa & WU & T 7

1. The classroom environment is intellectually, emotionally and physically safe. / 68T T ararayor d@ifgem, smaarcas 3R #ifds & @

TR g AR



2. The learning process lacks structure. / 3TTQTH UTRAT & TITGAT P 3T BT &l

3. Student-student interactions have no role to play in a constructivist classroom. / {2l el (P¥e Gra JTT) BT #A oo & 99

Iradid &1 Pl HFR el edl &l
4. The method of instruction is purely didactic in a constructivist classroom. / 3= @ fafdy, T Temard} wem & gofa: Rreme g1

Correct Answer :-

« The classroom environment is intellectually, emotionally and physically safe. / &&TT T aTdTaRYT difgen, HraeTcas 3R #ifds o @

ETT e =mev|

18) In what type of memory is the skill of riding a cycle stored? / fF &R #I Fﬁﬁ' # v AEfFd ga FT Hlad qafga gar
&2

1. Procedural memory / UTehaTcHeD T

2. Iconic memory / UTaHT FFal=ad E{% (3SR FAARY)
3. Episodic memory / U1 T (TiUifss AAN)

4. Declarative memory / ENWUTcHE FHTA

Correct Answer :-

« Procedural memory / UTohTcaeh FF[%

19) Self-improvement is given importance in approaches to personality. / 3TcH-JUR F gfddea &
TRehon  FHgar & Frd §

1. Cognitive / TATATCHED

2. Psychoanalytic / HATALTUTcHD
3. Humanistic / ATIddIEr

4. Biological / Sfaw

Correct Answer :-

« Humanistic / ATy

20) What is described as the pattern of enduring characteristics that defines a person and produces consistency and individuality? /
TR RAvant & ted & w0 & F47 aftfa § A vw afFa F Renfia Fwar § 3 BRar veea@Faa # 1 seea Fxar
(34

1. Personality / Tafhed
2. Learning / 37T
3. Intelligence / Eﬂ?’
4. Motivation / UROTI

Correct Answer :-

« Personality / Tdfhcd

21) What kind a learner is a child who seems to learn best when carrying out a physical activity related to the subject? / e s==T

e e #1 Rggrdf § St Rvw @ @@ sifts sl #@ v 9o o daar @2

1. Aural /8T



2. Reading/writing / TS /o@sT
3. Visual / ©F
4. Kinesthetic / ITfagad)

Correct Answer :-

« Kinesthetic / ITfagadr

22) Learning is defined as a process of bringing relatively permanent changes in the of an organism. / AT F T

sha & # IeTHa TR oRadd o A 9fe & w9 F afenfa e o
1. Behavior / TITER

2. Thought / AR

3. Personality / T fthed

4. Intelligence / Kj?’

Correct Answer :-

o Behavior / ddgR

23) In the Fearless Peer experiment by Bandura, who played the role of the model? /

Sogr g@rT BT AT feveer digv AT #, faa Aiser A sfawr feng o
1. The experimenter / GIThRAT

2. The fearless child / @8t =

3. The friendly dog / f=ad ﬁ J

4. The fearful child / %I a= A

Correct Answer :-

« The fearless child / &Y = o

24) Study of meaning in language is known as: / #T9T & 3 & HETTT F 37 AH F AT AT &
1. Morphology / Hrpiersir

2. Linguistics / foiffafeaa

3. Syntax / Ricad

4. Semantics / TAfCFT

Correct Answer :-

. Semantics / Fdfesg

25) In view of Piaget the stage of development from the age 7 to 12 years is called: / o= & AR, 7 ¥ 1297 & 37 & [ew
& FTEAT FT F AT &

1. Concrete operational /EFLT-fT HichaTcHD
2. Formal operational / 3ioaTRe TfthdTcad
3. Pre operational / q\'c‘r-ﬂ’ hATcHE

4. Sensory motor stage / Tdqr ULl 3rawm



Correct Answer :-

« Concrete operational /TFLT'(T AfpaTca®

26) Four limbs of the body are affected in caseof ./ & A & WK & IR 391 gafaa g {1
1. Triplegia / [AERCITIE

2. Biplegia / dTstafarar

3. Quadriplegia / FATEICATIAT

4. Hemiplegia / gTCeifamr

Correct Answer :-

+ Quadriplegia / FATSICATIAT

27) Developing one’s personality helps in / fFdt & =afdaca & Rem @ __ & @gar @ 21
1. Quicken the process of maturation. / URUGadT &7 UfhaAT &I der I

2. Increasing body stature. / RRIX T & T&a1

3. Dealing with social situations. / TTToted I & fAuea

4. Overcome congenital disorders. / STeaSId TIBRT TR DI ey

Correct Answer :-

« Dealing with social situations. / @G RUfaal & fAuea

28) According to Thorndike’s theory, the frequency of stimulus-response pairings determine the formation of/ 211?1?3337 F ﬁE}TIT-I’ *
IR, Saerar-gfafear geat @ ngf, e #1 7o uifa Fwar &

1. Reinforcements / Uelelel
2. Habits / 3TTed

3. Punishments / &8

4. Conditioning / 3-1?:;7&[?1?-!'

Correct Answer :-

« Habits / 3Tl&d

29) Which of the following is an example of creative thinking? / FT TR & ¥ FiaT TE=TTcH® RideT 1 3eEI0T §?
1. Arguing / T T

2. Managing time / 31 Ua4el

3. Active listening / @fopa SraoT

4. Questioning / I&-dT&

Correct Answer :-

* Questioning / {&-dT&

30) Language is which of the following types of content? / ST, A& f@d & ¥ fFT yvR ﬁ‘W—ER-T:I" &



1. Auditory / 0T

2. Pedantic / ®fedrér
3. Visual / €9

4, Symbolic / Thids

Correct Answer :-

« Symbolic / @Thfaed

Topic:- General Hindi (L1GH)

1) TS T fHAM | AT AR A1 AT IAPT| [oR-WR aGD Gat | TP T, TH WISt 39, A9 goiar 8f | Ser-a1 @1 &R & A ug] 1= &1 187
& T & auf 9gd $9 g8 9 T wud g8 N T IR11 39 99 W emure g@ € v wan) aut &t FE amn T d<ft R @a Hawr w1 EEIR T A
TP Tl i BT 3R 79 & 7 W1 98 A1 P gipd gY aIfuN TR $i 3R Id USTI 3T 39 AT 98 IOk = 3311 T, 99 9 ghival B 918
fArpTar ISPt Uel THiEl B RHR I WA Tt 1| ITA R fFTd 718 3T 59 B Sl B FY W I@HT Td TST Wl B R | IR H IH BF
frar A Sper BT fb M QA S S |1 gm? auf F @ $o W sraR T R @17 i A T9 F1 9/ T $E IR SuHT 7 starsia ot gan
fOpR oft U fRwa <t ofR o Wi |d IR Ugd T

STIT T Bl UgHR 11 T T U= BT IR Tq15¢
W: T & U P11 AR T A1?

1. Gy

2.7

3.93

4.3

Correct Answer :-

2) U@ YT fHam | AT AR 91 4T IAPT| [oR-¥R aad Gat | TP T, TP WISt 9, 9 goiat 8f | Ser-a1 @1 &R & A U] aie= &1 187
& Te A auf 9gd $9 g A T wud g8 N T ART1 39 99 W emure g € v wan) aut @t FE amn T d<ft 1 Ta Haww w1 HEIRe T A
TP T Wi BIST 3R A € 9 TiaT| 98 961 B gibd gU a1 TR P 3R Ia USTI RTd a7 T 93 Wk Whr 37| T, 94 7 H1val B arg I
frpTar IP! Ul THIEl B RSB I I Tl TS| 3T R fFTHd 7 37T 57 B A9 F FY W I@HT I UsT Wl BT R | I H IA BF
a7 e Fe1 % “Mem | Sieq d |1 g auf F @ go Wit smar T a1 M1 3 99 B 919 T | FE 9R IAS1 A7 Siarsia o g
fOpR oft U fRwa < ofR o iR |d W Uga T

ST T B UgHR Y I T Y= BT IWR gaigu|
WY AT eg PT GATIATH eg S AT R?

1. Jelleer

2. arEeT

3. Hicd=T

4. 3TRIET

Correct Answer :-

3) TS o1 P | T WY AT AT ST | [oR-TWR A0S Wl N1 T T, T Wil Ja, T aoiat | Sier-a1 w1 R F A ug] 9ie= &1 9187l
& 9re | auf 9ga #9 gS 9t T wad g8 N T IR 39 99 oft 3nmure gt €1 3% | aul # HiE 3= 781 gt off | Qe Siae? Fu1 S MAr A
TP W1 i SIS 3R 19 € 77 W11 98 61 I gipd gY aIfu TR Pt 3R 90 USTI SATA 39 M1 98 IO WA= 3311 T4, 97 T gobival B 918
fArrar Ia@t Ul skl H ReR I WA Tt 11 3T R a9 3R a3 g9l F $Y R TaH) T9 uST Wl B SR | I H I BF
Pl A SpdR BeT fb T [ Sl A 1 gRm? a9l & @ $ o AR T e @17 T A 9 F 91 G| $S IR SHST A siars e off gan
fire ft 3T fewa T 3R 3o Wae? B9 W ugT

ST T Y TGP T YD T YT $T IR AR
u: e & S o T Y R AE R 2



1. STITel
2. et
3. B

4. IRT

Correct Answer :-

4) T 1 O | T WY AT AT ST | ToR-T9R Ahe Qdl A1 TP T, TE St 9, 99 il i | S W TR F I 0 S ST arsTl
& I1e | auf aga #9 §3 At 7 wId g5 N T IR 39 99 oft enmute g € 38 | auf # HiE s A8 §¢ft off | Qe Siae? Fu1 & MAr A
TP Tl T SIS 3R 19 € 1 W1l 98 961 B giwd gU alfi TR $t 3R Id USTI SATA 39 M1 98 Yok W= 33711 T, 9 9 ghival B 918
frpTarT| IP! Uell THIRET H1 RSB I I Tl TS| ITA R a7 3T 54 B Il F FY W I@HT g UST Jal B 3R | I H IN BY
foraml A AP P [P T W Saq A F91 g2 auf & @ $2 W IR 78T i W1 AT A 9 B 91 | B aR SHST1 74 Siarsia ot gen
bz Wt 3R fewra vt ok 3o Tae? @ R ugT T

ST TR B UgHR A1 TR Y WA BT IR TS
WRFT: TITHT I UT?

1. Th fohar

2. T gfaar

3. T&h @R
4, T TR

Correct Answer :-

. T fRaa

5) TS o1 fFAT | T WY AT AT ST | [oR-TWR A0S Wl N1 TP T, TP Wit J9, T4 aoiat &' Siel-a1 R R F I ug] 9ie= 671 9187l
& Ire | auf 9ga #9 g% 9t T wad g8 N T IR 39 99 ot 3nmure gt €1 3% | aul # HiS = T8} §¢ft off | Qe Siae? Fu1 S MAr A
T a9 B! 3% A € 9 Wit | 98 99 B giea U I WR F1 3R Ie USTI RTd fa M 93 Wk W 37| M, 94 9 Il B ars A
frran STt Ul sHikal H IReR I WA Tl T ITA AR a7 3R 59 3 39l F FY R T@HR T9 UST Wl B SR | I H I FF
fPamt A Spdr Fel 1% "um B i I 1 g auf & O 7o W SR A e @ 17 a1 3 99 B 919 G| $S aR I$1 7 siarerd ot gan
fir ft 3T e T iR 3o WaH? B W UgT T

ST TR B TGHR 1R TR Y WA BT IR TS
U: A F A9 H @ 7 S $1 AR i o g7 A
1. FIfRR a% agd U AT ATl

2. T SEhr uelr A& e o

3. i 3R o wa 8 Shd W@ 1

4. TR quT @ P P AR AT AT

Correct Answer :-

o FIfP aul B BT PS AR A& AT|

6) U YT fHarT | AT AR AT 4T IqHT| [oR-99R TAP Tl A1 TF T, TP wig) 39, 9 goRar 8f | Sel-T1 @1 &R F A U] gie= &7 187
A e @ auf agd B4 g3 f1 T Bt g T T TR 30 76 R 3mwre @ & 76 W) ant B $E omn 78 Gt ) Sa e w@n dEImee WA A
T Tt Wi BIST 3R A € U HiaT| 98 961 B gibd gU a1 TR P 3R Ie USTI RTd 3 T 93 Wk WhR 37| T, 94 9 TH 14l B arg I
fArpTar IP! Uel THiEl B RSB I A Tl T | ITA R fFTHd 71 37T 57 B A7l F FY W I@HT Id UST el B 3R | I H IA BY
frar A Spar BT fb M QA i A |1 em? auf F @ $o i R T e @17 M A 9 F 9 G $S IR SUST 7 starsia ot gan
fOp7 oft 3T fRwa < ofR o Wi |d W Ugd T

ITF T Bl UgHR T T T U= BT IR qA15¢
WR: T T fRy uT 2

L

2. 3TTRMaTEY



3. PETAR

4, Uratel

Correct Answer :-

o 3TTRMETEY

7) TS o1 fFAT | T WY AT AT ST | [R-TR AP Wl N1 TP T, TP Wit A9, T4 gt §f | Siel-a1 R R F A ug] 9iem 671 9187l
& I1e | auf aga #9 g3 §t1 7 wIa g8 N T IR 39 99 oft 3nmute gt €1 3% T auf # HiS = 481 §e¢ft off | Qe Siae? Fu1 S MAr A
TP Tl T SIS 3R 19 € 1 W1l 98 961 B gird gU alfi TR Pt 3R 96 USTI SATA 39 M1 98 Jak WA= 3311 T, 99 9 ghival B a1
frepTaT| IUP! Uell TG B RBR I I Tl T | ITA R FTHd 71 30T 59 B I F $Y W @D gd UST Jal B R | I H IN FF
foraml A PP P [P T G Siaq A F91 g2 auf & @ $2 W IR T8 i W1 AT A 9 B 91 G| B aR SHST 74 Siarsia ot gan
bz Wt 3O fewra vt ik o Taer @ R ugT T

ST TR Y TgHR A1 TR Y WA BT IR TS
W FBIYT B B TR IFT AT ?

1. 0T

2. 711q arer

3. 9MAT T TG

4. 30 |

Correct Answer :-

o AT FH U

8) TH YT foraT= | T [T ATH T IHST| ToR-SIR AP et A1 | TP T, T St a1, 7 gopivar ff | Bler-a1 av1 R & qrA uy) sied &7 a1sTl
& 9re | auf 9ga #9 g% 9t T wad g8 N T IR 39 99 ot 3nmwre gt €1 3% | aul # HiE = T8 gl off | Qe Siae? 71 S MAr A
TP W1 i SIS 3R 79 € 1 Ja1| 98 61 B gipd g¢ aIfi TR Pt 3R 90 USTI SATA 39 M1 98 IOk WA= 3311 T, 97 T gohival B a1
frTen TPt Uelt goival Bt dRHT I I Fell T | 3T BT {a 7E iR 59 ) A6l & $ W TEDHT Id UST Fdl B 3R | I | 3 g
Pt A Srpdr Fel 1% “Mum Jd a1 g a6t & O 7o W SR A g @ 17 M1 3 99 3 91d G| $$ aR IqPT 7 Siarsid ot gan
fire ft 3R e T 3R o WaHe B W UgT T

ST T B TP ) IR 7T U BT I©R ga1sg|
U ‘STATSI’ Xsg $T T SHFHUTI 7 ?

1. R

2. 3fER

3. ETYROT

4. ATYROT

Correct Answer :-

9) T YT foham= | T WY A7 o7 S0P | ToR-THR AS Q! N1 TP T4, TP WSt ), 99 il f | Sie-a91 W W F I U 9 &1 arsTl
& e & auf 9gd $9 g3 N T wud g8 N T Ar11 39 99 W emure g € v war) aut @t FE smn T d<ft 1 Ta Haww w1 EIRe T A
T T Wi BIET 3R A € U TiaT| 98 961 B gibd gU a1 TR $T 3R Ia USTI SRTd 3 T 93 Wk Wh? 371 T, 97 T 14l B arg I
frpTar IP! Ul THIEl B RSB I I Tl TS| 3T R fFTHd 71 37T 54 B A7l B FY W I@HT Id UsT Wl BT R | I H IA BF
a3 Srpar Fe1 % “Mem | Sieq d |1 g auf F A $o Wt smar T g @ 17 M1 X 99 B 919 T FE 9R I9S1 A7 Siarsia o g
fopR oft IUA fRwa T ofR o Wi |d W Uga T

ST T FY UGHR ) I T Y= BT I°R 941t
WR: "3MTUTG’ UE & TG DI A1 AT T 8 2

1. demE

2. FIfdep

3. |rad

4,538



Correct Answer :-

10) TS AT fHar= | AT Y 10 4T ITST| ToR-99R A Tt At T Y, Th Siet 3d, 99 gaiar Of| Ser-ur @R IR & Q- ug] aivA &1 918l
& Ire | auf aga #9 g3 §t1 7 wad g8 N 7 IR 39 99 oft 3nmute g €1 3% | auf # HiE = T8 §¢ft off | Qe Siae? 7 & MAr A
TP Tl T SIS 3R 19 € 17 W] 98 J61 B gipd gY alfi TR Pt 3R Id USTI SATA 39 MAT 98 IOk WA 3311 T, 97 9 gohival B a1
frpTaT| IP! Uell THIET B RPBR I I Tl T | ITA R a7 3T 54 B I F $Y W IT@HT gd UST Jal B R | I H IW FY
foraml A AP P [P T G Siaq A F91 g2 auf & @ $2 W IR 6 i W1 AT A 99 B 91 G| B aR SHST 74 Siarsia ot gan
fir oft 3T fewa T iR 3o WaHe @ W Ugd T

STEd T B UeHR ) I T 7 BT 39 gaisg|
WR: ToR-TERX § B AT TAE 82

1. §g §AN

2. ggsfe ware

3. 3Tt |

4. fgey waTE

Correct Answer :-

11) TS AT fHam | T TR A T SUST| ToR-a¥R A Wt ft T T, ue el 99, SR goiar «ff| SYer-ar w1 W & 9w uy) aitm &1 9181l
@i a1 & 9ui 9gd o0 g5 A1 T wad g8 O 7 IR11 39 99 oft st @ & 3w wanl auf F H1S smm g @t f | A Saw) | sEme” M
TP a1 i BIS 3R 9 € 77 W11 98 61 I gipd gY afuN TR Pt 3R 90 USTI 3ATA 39 MAT 98 JOR WA= 3311 T4, 97 T gobival B 918
freTen TP Uelt gHival B BRHT I I Fell T | 3T BT {Ta 78 iR 50 ) A6l & $ W WD Id UST Fal B 37| I | 3 g
Pt A Srpdr Fel 7% "M Jd a1 g auf & O 7o o SR A &g @ 17 a1 3 T9 3 919 G| $$ aR IqPT 74 Siarsid ot gan
fr ft ST R T 3R 3o WaeT B9 W UgT

IR TR B UgHR - I T U= BT 37 Fa1s¢|
u: o awf A auf wu g 22

LU auf §

2.9R guf &

3. aut &

4.3 aut &

Correct Answer :-

o i avf @

12) U@ 4T fHa | T 91 9 T SUST| ToR-a9R ad® Wdt At | TP T4, T siel 99, §9 goivar Ff | SYer-91 w1 R & 9w ug] aiem &1 91811
& Te @ auf 9gd $9 g3 N T wud g5 N T ar11 39 99 W emure g@ € v war) aut @t FE amn T deft 1 @a Haww w1 EEIRe T A
TS T Wi BIE! 3R A 9 TiaT| 98 961 $Y gibd gU a1 TR $T 3R Ia USTI 3RTd 3 T 93 Wk War 371 T, 94 7 H1val B arg I
frpTar IP! Uell THIET B RSB I I Tl TS| ITA R fFTHd 7 37T 57 B Il F FY W I@HT T UsT Wl B 3R | I H IN BY
foraml A AP Pl [P “THm W Siaq A F91 g2 auf & @ $2 W IR 8 i W1 AT A e B 91 | B aR 3BT 74 siarsia ot gan
57 oft 3T fRwa T ofR o W @d W Uga T

ITad T B USHR ) I T Y= BT IWR ga1gu|
;I HT AN A RTANGH ] ?

1.0 I &1

2. 9d ida @

3. TT S &

4. 8P A Pl

Correct Answer :-

o Wd Sda @



13) TS T fHar= | AT Y 10 4T ITST| ToR-99R as Tt At T Ty, T Siet 3, 9 goiar Of| Ser-ur w1 R & QA ug) aiva &7 918l
& 9re | auf 9ga #9 gS 9t T wad g8 N T IR 39 99 ot 3nmure g €1 3% | auf # HiE = T8 §¢ft o | Qe Siae? Fu S MAr A
TP W1 i SIS 3R 9 € 7 J1| 98 01 I gipd gY afi TR Pt 3R 90 USTI SATA 39 M1 98 IR WA= 3311 T4, 97 T gohival B 918
frTen TPt Uelt goival Bt BRHT I I Fell T | 3T R f{d 7E iR 59 ) A6l & $Y W TEDHT Id UST Fal B 3R | I H I g
Pt A Spdr Fel 1% "M Jd Sia I /1 e a6t & O 7o W SR A &g @ 17 M1 3 T9 3 919 G| $$ aR IqPT 7 Siarerd ot gan
fir ft ST e T 3R o WaH? B9 W UgT |

UG TR Y Ugh F9 I T Y%A BT ¥R qa1gy

U TR e WS F W Sid H T HE2° T M7 7o qoar @ 2
L¥T 8

2. fpamat &

3. S &

4.7 &

Correct Answer :-

A o

14) T 4T fHaM | T T T 4T SHST| ToR-a9R ad® Wt At | TP T4, T sie) 99, §9 goivar Ff | Ser-a1 w1 R & 9w ug] aiem o1 9181l
& TTe @ auf 9gd $9 g3 N T wud g8 N T ar11 39 99 W emure g@ € v war) aut @t FE smn T deft 1 Ta Haww w1 IR T A
TS T Wi BIET 3R A € 9 HiaT| 98 961 B gibd gU a1 TR $T 3R Ia USTI SRTd a7 T 93 Wk Whr 371 T, 94 7 H 14l B arg I
frpTar| IP! Uell THIET B RSB I I Tl TS| ITA fBR fFTHa 7 377 54 B Aal F FY W I@HT I UsT Wl B 3R | I H IN BY
frar A Spar BT fb M A S J |1 em? auf F @ $o W R T e @17 T A 9 $1 91 G $S IR SUST 7 starsia ot gan
fhz it 3R fRwa Tt ok 3o Teer @ W ugT T

ITI T B UgH 1 T T U= BT IR qa15¢1

Y : T U B AT | B9 AT BT gRI?

139 q P Tl

2. g

3.9

4, Al

Correct Answer :-

15) vF a1 RFEr| A A A 91 38ET qeR-aE aaE Gt df 'F Y, e S 3w, dw awiar of| siear W e & e g ate &
arer i 9T & aut T |Hm§'§ﬁHW|3va¢aﬁmq@T€rwm|aw‘r#raﬂésmnaﬁa’tﬁu“n"@asﬁmwﬁmn"vﬂm
X TF T g B AA & A WrET| 98 Sl F glhd U AW B AT 3T T UST| 3PS T AT a2 WAL WA 37| A, T T THRAT FY
2 A P SR Tl TERET F T 3 T T 7] 3ER AR RERa 90 3R g B 36 & #9 W w@E] a9 ggr At A 3% e F 39
% el A dwaR FeT B M dq aw § T4 @I? a9 F A To ol JWR A Rw @ A F g9 A AT goh| FF 9K 39H A st ot
§mmaﬁmﬁmr@3ﬁrgﬁsmﬁawq§aW|

ITGEH TR Y Ugh F1 T T YA BT W qq1KT
TY: ‘TIST Vg T 32

1. el

2. 320F

3. dead

4. dga

Correct Answer :-

. RS



Sifa 7 gBt a1y A, 7o e g1
T BRI RAR PT, UST I8 &1 T/ I

AT ot B | by, sty iy g aife |
et At g R o, T ot g R

T T weriwr 31 ygw R U@ 9F 919 U= o7 3R 913U
T WY W A A A R 2

1. Enfelar

2.5 A S TG

3. qfe

4. S

Correct Answer :-

17) <ifa = gt W1y 3, yo i 9,1

Hiel HR ARAR P, TST 5 &l =M 1l

ATe |t B3 | by, sy iRy g AR |

Agai at o faf fpy, s ot gfma g n

T T v #) vgwR Y U@ WF 9 U BT SR qd1gu]

wy: oI T YSY WY B, g A 7= & wrem § B A Rewd ved B mufmar § 2 2
1. STfer

2.91Y

3.

4. deld

Correct Answer :-

18) wife 9 IS A1Y F1, 7@ Ao 3, 1
T Y TREAR P, ST I & /M Il

A @t 3 A by, sty ey g wife |
waidi g faf Ry, g o g i

forg 1Y veriw #Y vgHR A YR 9 a1d U= $T I qasy|
Y IR BRI ?

1. @

2. AT

3.7

4. 81"

Correct Answer :-

19) WIfd 7 UB WY B, g@ g 79, |
Hiel SR ARAR P, TST 36 &l | i

Arer at % fR, sftu feY g wife |
Agai at o ol fpy, s ot gftm= g



o T veriwr ot ygwR R U@ WM 919 U= o7 3R I3
TY: ‘ST I8 & T | T AT 82

1. 3THEYT FT Hlegd

2. FAE B Hecaeld gl

3. F T P W ST

4. 300F G

Correct Answer :-

o T BT Hecagld el

20) S 7 g Q1Y A, go A 319, 1
Hiel S ARAR P, UST 6 &l | 1l

e ot B | fby, sty iy garaife |
wal oy Ry ek, e ot it i

T T ueriwr #1 vgwR TR U@ 9 are U= o7 SR T8l
us: ‘ag Ry fpY &1 o aread 22

1. A HT Hewa

2. 9Rf T

3. IR ol

4. IR P

Correct Answer :-

o Hd BT HCHIT

21) Sfa 7 g 1y A, g A 39,1
Hiel S ARAR P, UST 6 &l | 1I

A ot B | fby, sty ey gaaife |
agar A og Ry R, g &t gira af

o T weriwr 31 ygws TR U@ 9F 91d U= o7 3R I3
U GRRA & Siafa oam 3T} 2

1. hae Riaa

2. el TAOT

3. pad AT

4. 3T /AT

Correct Answer :-

o WP THY

22) Wfa 7 gt a1y A, yo A 39,1
T P TRER P, UST I & /M |l

A @ BT A fiby, SfitH fy gawife |
Agat v g R R, o & gftR= il

T T v #1 vgeR R U@ 9 are U= o7 S9R a8
URH: TR iRt fra s A IREE 2
1.3AH ¥ S a9

2. 9dq



3. W@l
4, grEr

Correct Answer :-

23) wifa 9 g |y a1, 7@ @i 71,1
T BN TRAR BT, UST I8 &1 = 1l

A @t % A by, st ey g wife |
ggatdrag iy fhy, ue ot gitra i

fou T e #1 yge? i U WM 91d U= 67 SR 9d15¢|
U=: U Ui § 1 71 Y@ A AT ST | ?

1. STfeY

2. 9

3. N7

4. 30D G

Correct Answer :-

24) wIfd 9 YS) 91y 1, 1@ d@ifvre M, 1
T B} GRAR BT, UST I8 & ™ |l

A At 3 A by, sty ey g wife |
ggatdrag iy iy, ue ot gftwe i

T U e Y ugeR R IR WA a1dt U ST IR qd158|
WR: TR Ui A ek A fud Hew @l qufarg 2

1. ==

2. eaR

3. 3T

4. 3O @A

Correct Answer :-

25) ST <1 gt A1y Y, go Ao 94,1
T FRI TRAR BT, UST IEH & T i

ATen & B F R, shw ey g il |
wat it o Ry vy, e ot it nf

AT Y ueiwr #1 vgw? R U@ 9 AT U= BT IR q415¢l
W: TR eg BT YA TaT Weg FT TG & ?

1. gpyrot

2.937

3.3

4. dhA

Correct Answer :-

. A



26) wIfd 7 gt |1y B, Yo Hw 9,1
T BN TRAR BT, UST I8 &1 T 1l

A At % A by, st ey g wife |
wat at aF Ry Rk, 7 &t it

T ¢ weri Y yea] R IR o aTd U $7 SR 9aiEy|
U A HET bl WeaT § ?

L9 #H

2.30q #H

3. 9RY feRmait

4. o &

Correct Answer :-

o TRY fEemI H

27) wfa 7 qot 91y A, g e 9,1
Hiel S A¥AR P, UST 6 &l 7 I

A d@t % A by, st Y g wife |
wat at 3 faf Ry, 7 <t ghwa i

T T weriwr 31 ygH? R U@ 9H 919 U= $71 3R 9413

T=: “Agal at o R Y, e R giRT TR i A sR A Ra e s Ry a2 2
1. oifes &1

2. AT @

3. STfd &1

4. HHBIVE H

Correct Answer :-

« PHIHBIUS BT

28) ST <1 gt |1y B, Yo Afoe 94,1
HIT $ ARAR P, ST 6 & 71 1

A At % A by, st Y ga wife |
wal i o Ry ek, e ot it i

o T veriwr 3t ygwR R U@ WM 919 U= &7 3R I3
UH: HAR A GARA A aff arn g 2

1. gl SNH A PY

2. el FAF B AW w3 F gA DY

3. el ATl B &

4. R /AT

Correct Answer :-

o WP THY

29) wfd 7 yot A1y HY, I Wfw 9,1
Hiel H ARAR P, UST 6 &l | 1l

A At % A by, st Y g wife |
war a3 faf ey, 7 <t ghwa i



AT TTY v #1 ygH? TR U@ 9 a1 U= BT IR q415¢]
U ATY’ eq BT FAMMT T 82

1. |t

2. Qmedt

3. Ay

4, ey

Correct Answer :-

o g

30) wifd 9 UB! A1y FI, @ A 7, |
Hiel S ARAR P, UST 6 &l =M 1l

e ot B | fby, sty iy garaife |
Agardrag Rl R, a5 ot gftma fgn

T T ueriwr #1 vgwR R U@ 9 are u=A BT S7R q415e]
Uy AR FTRT AL R 2

1. HITAT & ATH BT FAOT

2. 1Y AT

3.7 B U BT

4.5R q P T

Correct Answer :-

Topic:- General Sanskrit(L2GS)

) Feiecdy fawedy +: faweT: o ?
| grerss:
, BRerss:
URGACE
gReyTa:

Correct Answer :-

4.



4 92 "

Correct Answer :-

-~

2¢00
1.

00
2.
; f00000

, ¥8Co0

Correct Answer :-

200000



RS TfScar URET YGHCH AT -

A AFARRAVRT 30 A | 37T FOT:, FOUIIUTL:,
waﬁamwsﬁaw—cmﬁ|m—amaﬁwmmﬁ
T, AR I, ey Udr 7 |
3 AR IAedde A RH-IJH-TH -37Ud- ToT Tl faersa
"Jecara:” sfd ufdElsslad | ¢ fAcud 9o IEAd dTAd o
ERIITCH

3T HAGHIRATT &hdl | #Rd aAdifel YA dfed |
IEAA Ie) 3rscreel Uaifol dded | Idol deEl AR #Rd ddd |
HAEIARA ‘ UsdAl dg: 3fd ufdad| HgeRaEd © 99 330 A

[ECUGH
HEAENOT 3rscrey  quonta sugentar @ fAf@art= | qufy Few sfa
WUeEd  fAsufcd: | qUO  SEEdUHAEdH, Schse datd |

SEAGATOT HEHNA IO o T AT decdrd: HeAeliod ATesid |
3d: ARGIGN HARIEd: A7 FoEaid afaea enfeaased |
INEAET  qiotAlfe  “Ieqiotar  sgar ¢ egmqoAr 3 S
AT | dfeel SR Al $dfed | F: AtS: AR add|

FAETHARAET AHTeAIH ThATET-

TEI_Q;QT:
e ]

4.

Correct Answer :-



eeileh UTacar stenfafesesa ueaey @.gagcdi A -

ST =7 faeg =T oY & &Te 1= =7 ffel o [0 =7 4 |
of FAcHelleh ST HISIERUOT FIMRT o ||
Arar A far Afa Tasmarg Ray feadq |
FARRUTIII sTafed fedded: ||

T €T 3 fager: |

? qclept gfScar INATESCET IeeAed AgHc FIId -
HMecTaearaiclssereTeate Al gad I |
36T AR 387 T T AT SATAT FET Jo o ||

qdeleHehd & e adiAld $Head |

AT TEYHRUT I hATGdiond: ||
Tdd cafAfa &ad |




Correct Answer :-

” ecltent ufdear sreifAfisced geaed Aeeead Gaad -
IfecTararafelsdereacalslfATdr gad TAeT |
36T UTIRY 37 T Fe UHATST ST 7T Joad ||

qdoloHehd & e adiATd H2Ad |

TEAT JEYRRUT Yol FATGATogct: ||
STET FdsT 3a UG UIFAHA |




vellent gfscar srenfaféserr yeaea Agecc aad -
AfecTaegrafelissereacatsifAaT gad T |
3ET UTIRY 38 I Fe AT 1T #T Jea# ||

qdoloHehd & e adiAd HLA |

TEATT, JTEIRRUT Teed HATGA fegiet: ||
T #Fded SR |

" oot ufecar srnfafésesr weaey AGHcN FEA -

ANT o7 faeT = TUT o &Ted ATeT o <ffel & oM o &3 |
o HcL el ST HeTSIEUUT FHIMRT o ||
AT fAF Tdr Afd Easmard Bag Ra# |
PEBRUTART #dfed fedgsd ||

TIHATETT T fgd™oT: Hafed |

Correct Answer :-



12)
Ui UTScdr Ueasy ?_gl,sgdgrdi qIad -

CATRYIRATed -SR-S AMHRAH,  HcdraN:  HRAsA:  FFedr
HHAA| dal U 38T HElcHe: 3adN: 3Hdd| Hded FTEUAT 3T8e:
HREM fAfRTeT: M) o Taerfdel qaeht qeamed oidt awed: 30
CEAC G E RN ECRIGT
safafaer qAT ST EEE a1 ARt sfa Adarel| Tdd Hcdl e
ed Fa: W dEA: Hodid Slededidd IARIAl fhed  &ard
PORY SAAl-H q HREOT: Fodn: 3eia=(l Tafrem: e T
Mol 3VTBA| T T TATANRT Aeced §6d o TAY| vl ° e
UAAGTAA| Ukd RI-Aeed Heal @ dAEesSd, df T sifds fRreman
f&iecar 3ARad |
e OFT AT FUT: oced AR JRMERT: ¥ 3Wad| aF uidfes
IIART:  H:  STelcllel-UHed-NaRU-geidgsT-aiaeisl-olelliaia:  dacdre]
AT fAaTaeT: Heaegenfaarehiid |

Uhel I T YAl FAIH e d| dF HE: 3T 4T
3Tl JeTAC| T Tol gordl AT dwE dhelsaehsy aREdesaTadd
gud T | avd A 3989 FRERGE Ao Tafede
gfasaiaddrs |
HEPIRA-8 AooT: HaET I GIuR: 30 & w@ifaed sieeed
ARIHEA| FeT F IHole: Yol O o aeafeue: aeag feerdrt
TSCAl HIGH 3URTOd dal HIar AHST: e Mdrm: 3ugerd 3raid |
M, AT 3FRcd, 3ufcsed 3ifed| I=AlsT TARET HIUGY
Ty GRETUA |
TRAd T AU GANAT: TSITEEETH eeid| ddd d&d dledadr
U AETod | AP TWAT  FRERgEAfcadAnid 13




HRARIT: Tt TRied, a8 ufdar: gerafed, drafed = -
‘PRI ST, TIIH |

@ sfa g gaAdRueiAcatEd-

N
. e}

4

Correct Answer :-

14)
UR=de dfocar yeasd ?;ssdgcdi A -

CATYIRATed  hl-SIHEE-GSCAHREA  HATIN: AR FedT
Al dal UG MET HglcHel: 3T 3087ad| Hld T&Uar 3ade:
HREM fAfRICT: Ml dd Taerfdlell qaeh aeamed ot aged: 3T
CEAC GBI CINKECRIGT

SOIfdfael #@d GaoFan: 99 ol AR’ sfa sdare) vdd #car 4
scged FUa: W dEA: Hedid SledlediAd IARIAl fhed  Sard




PORY STelellecld, §d HRIEOT: Foar: 3reiasi| Dafeem: @l agea:
TMPelH,IIMTSA| dF T FTAMATET AT §E&d d TAY| I T T8
UAAGTAA| Udd RI-Aeed Hcal &@: dAEesd, df T aifde fRreman
f&icear 31ARTd |
e OFT U FUT: oced AR JRMERT:  HE IWad| aF uidfes
JIAEA: T dTTlol-THATAT- AN AR OT-GRN TG T-INaee-allellGTa:  dFcdle]
AT AaTeT: Heaeggenfaareid |

Uhal I T JICITEl FAIH eS| dF HE: 3T 41T
3chd: Al T Bl Joeal SPSur: hH Hhersarpsy gRATeAsIaTd
Faud T | dEg WA 3984 FRENG Abcdl  Toagrds
gfdsaTiudare |
HEPIRA-8 AooT: FaET Jg&d GHuR: 30 &l wafdaed ioeed
ARG FeT I 3ol: Yol O o qeafeue: aeay feerdre
TSCAT AGH 3UNRTTO dal ST AHsuT: d&d IMdram: 3ucee 3ad |
M, AT 3FRcId, 3ufcsed 3fEd| I=dlsT TORET FIUGY

Iy gREroad|
TRATT I AIPSUT: TR ASIHERITH 3eled| d¥d g Slodadr
G eS| AP T RiSReasieaaid 137

ARARIT: ool Ted, T8 AT Yoidied, ®R—ied o -

"ciguqu__’ Tl EdIH' |

UG ScIF THN: IATEd-
SIEELF

1 o |

i I DIEICE

Correct Answer :-






RS TfScar URET YGHCH AT -

A AFARREAURY 30 aId | 37T FOUT:, FOUIEIUTL:,
qmaﬁamraws%am—cmﬁ‘mmw rasSTT ACdl, AT
T, AR I, ey Udr 7 |
3 AR IAedde A RH-IJH-TH -37Ud- ToT Tl faersa
"Jecara:” sfd ufdElsslad | ¢ fAcud 9o IEAd dTAd o
ERIITCH

3T HAGHIRATT &hdl | #Rd aAdifel YA dfed |
IEAA Ie) 3rscreel Uaifol dded | Idol deEl AR #Rd ddd |

AEIARA ‘ UsdAl dg:’ 3fd ufdadA| HgeRaEd © 99 330 A
[ECUCH

HEAENOT 3rscrey  quonta sugentar @ fAf@art= | qufy Few sfa
WUeEd  fAsufcd: | qUO  SEEdUHAEdH, Schse datd |

SEAGATOT HEHNA IO o T AT decdrd: HeAeliod ATesid |
3d: ARGIGN HARIEd: A7 FoEaid afaea enfeaased |
INEAET  qiotAlfe  “Ieqiotar  sgar ¢ egmqoAr 3 S
AT | dfeel SR Al $dfed | F: AtS: AR add|

decarafa ufae: sRufAcAREa-
) wHisi F



Yellhl GfScar srenfafésced geaed qgdac’ Faad -
sfeaaeaafalsaoreacalsifam gad Jored |
g2 AT 30 T Fed THISTT STA1fel 58T Jea s ||

[aoleHehd e e aaTATd HA |
AT JEYDRUT Ieed HATGd g ||

Td GEYOT Icel AT |

fo



eellent gfdcar srenfaféseer geaea Agdaca Faad -

INT o7 faedm =7 Y & gTet ATt o7 el o 0T o7 & |
o FAclleh STTBTRETT HISIRUTT FIMRT o ||
Arar A7 far Afa Tasmarq Ray ffaA |
FRAPROIARTATY s1dfed e ||

T 39 AT |

I.Tr :

21)

UR=ade gfdcar yeaed ﬂr.gd_;rdi A -

CATRYIRAed  h-SIE-GSCATREA  HATIN:  ARASA: T
ATl TSl Ud FET HElcHA: 3ddN: Al Sl TGdr 3ade:
PREM fAfRTCd: Ml dd aerfdiel dadh qeared #dT aged: 3T
CEAC M E OGN EERIE ]

safafder sErd Sdear: g7 @l ARRAsafd sfa sdart) Udd Hcar e
Hed FA: @A €A Hodid SeHleciAd ARG fhed ST
PRI FAleciH T IRIETOT: Fear: 37e7ae]| e e awqca:
TMPerH, TS| 7 T FEIART Focdd §Ed o TAT| TIA T T8
AT Ukd RIY-Ueed Heal @@ dAEeSd, o T i fReman
f&Tccar 3ARTT |

fhod T o PO Aoty AR JeMER: T 3Weld| aF ufdfea




IIAEA: T STelclell-THelel-ANaROT-aNaIGA-Maead-alleliaia:  dacdle]
AT fAaree: FeaazefaaHnid |

Tohel T hETIHAVT JICATEl FURMH FTBA| dF hd: 3T T
3eTd: A TET Tl Joral AMPSUn: i HAAH T TREATASUITI
FaUd I | X TURA 3T8d FRENG Al TATierdst
PIGIGIEREIC
HEPIRA-J8 APooT: WO Jged PR 3T Tl T 3eeed
ARG FeT T Iolel: Yolelel TR o wrefeue: Ay eerde
TSCAT AlGH 3URTTOd dal 97T AHSuT: d& 3Mdrar: 3ucee 3Hd |
MATH 3cA=: 3FRcad, Iufesed, | FedsT HARET FATAKQY

THIAY TRITUTd |
Tedld U AUl GANRT USIEEEH IHo#id| ddd d&d dodad
QA eS| AP TG RiGTGwATeadHad 13

HRCARAT: Tootid BRIed, T8 IidAT: Joifed, Hfed o -
“PEUTE] I T |

Ui s ScTET USTT 3TAA: 3TEd-
TS o

Correct Answer :-

Ul o



RS TfScar URET YGHCH AT -

A AFARREAURY 30 aId | 37T FOUT:, FOUIEIUTL:,
qmaﬁamraws%am—cmﬁ‘mmw rasSTT ACdl, AT
T, AR I, ey Udr 7 |
3 AR IAedde A RH-IJH-TH -37Ud- ToT Tl faersa
"Jecara:” sfd ufdElsslad | ¢ fAcud 9o IEAd dTAd o
ERIITCH

3T HAGHIRATT &hdl | #Rd aAdifel YA dfed |
IEAA Ie) 3rscreel Uaifol dded | Idol deEl AR #Rd ddd |

AEIARA ‘ UsdAl dg:’ 3fd ufdadA| HgeRaEd © 99 330 A
[ECUCH

HEAENOT 3rscrey  quonta sugentar @ fAf@art= | qufy Few sfa
WUeEd  fAsufcd: | qUO  SEEdUHAEdH, Schse datd |

SEAGATOT HEHNA IO o T AT decdrd: HeAeliod ATesid |
3d: ARGIGN HARIEd: A7 FoEaid afaea enfeaased |
INEAET  qiotAlfe  “Ieqiotar  sgar ¢ egmqoAr 3 S
AT | dfeel SR Al $dfed | F: AtS: AR add|

EITFU’IF__[ T&wj,g—cgucai 3Tea-



” et ufsear srenfAfiser T e FIEd -

ST =7 T o1 Y 7 &lel ATt o7 effel o [0 o7 &4 |
o HL el S8R HTSIIUT FIMRE o ||
Arar A7 far 2fa Tasmard Rag &a# |
FRARROIARTAY s1afed e ||

IEAI 38 foddggy: #afed |

24)

UR=ade gfdcar yeaed ﬂagdgrdi A -

CATRYIRAed  h-SIE-GSCATREA  HATIN:  HARASA: T
NIl Tl Ud ET HElcHA: 3IddN: 3l Sl TGdr 3ade:
dREM fAfRICT: 3MEldl dd T@erfdiel qadh aeared #dT aged: 3
CEAC M E OGN ECRIE ]

safafder sErd Sdear: gl ARRAsAfd sfa sdart) Udd Hcar &
Hed FA: @ €A Hodid SeHleciAd ARG fhed  daTd
PRI STolellociH, Hd RIATOT: goar: 3erae]) rafem: @it ages:
TMPerH,IMESA| T T FEIART Focdd §Ed o FAY| TIA T T8

TIAEIA| TR RI-Aeed Acal i TIPS df T Sifeenr fRremr
f&Tcar 3ARTT |

fohed €T o1F: FOUT: Joctd AT TAAMSAT: e JFWod| dF uidfeeT



T . AR T TR A< A T S qe
AT fAaee: FeaazefaaHnid |

Tchel T hETIHAVT JICATE FURMH FTEA| dF Hd: 3T T
3eqd: Al T ol gardl ANFET: HE dhesarpsy aREadsuTaad
U F | ¥ TURA 3T8d FRENG Abcdl  TATHerst
PIGIGIEREIC
HEPIRA-J8 APooT: WO Jg&d PHIN: 30 Tel T 3ieeed
ARfIad| TeT T 3Holel: Qole el @ wefeue: araa e
TSCAT AGH 3URTTOd dal $197daTe] AHSuT: q& 3Mdram: 3ucee 3d |
MATH 3cA=: 3FRcad, Iufesed, RT| FeMsT HARET FATAGQY

THIAY TRITUTd |
Tedld U AUl GANRT USIEEEH IHo#id| ddd d&d dodad
uA:  JEeSd, | A wW@iEd RiGAEAlcadanid 13y

HARCARIT: doetid Eed, a8 gfdam: gorifed, defed 7 -
“PYURE] TG, TITH |



eelleht gfScar srenfafésery geaea Ageacc Faad -
s aafeelsTerRacal iR ged I |
36T UTILT 3 T Fed UHATST ST 51T Joa o ||

qdsTeHehd & e adiAd H2Ad |

c

AT, YEYRRUT Ieel hAGd fead: ||
T Scaed TaRIvurfAgH |

* oot afscar At e qEHer gaad -

T &7 T =T Y 7 &Tel 1T o7 effel o o o7 &4 |
o HA el STTABTREIT HeTSIEIUT FIMT o ||
Arar A7 far 2fa Tasmard Rag &a# |
FRARROIARTAY s1afed e ||

‘A’ 3IEIIHY: aafd|

Correct Answer :-



27)

U=ade gfdcar yeaed &f__l,sgdgcdi A -

CATRYIRATed  h-SIHE-GSCATREAH AN AXASA: T
Al dal U9 3ET HAGleAsl: 3ddN: HHdd| $Hdd T&UAT 3
PREM fAfRTed: Ml o Taerfdiell dadh aeamed oidT aeed: 3T
CEAL A E OGN ECRI]
safafder A@d Gasar: g9 cal ARRSITA sfa e vdd Hoar S
Heed FAT: T TR Fodid SleHeeiAd IARTA| fhed  gard
PRI Slefelloc¥H, TS IRTETOT: Gocn: 3ie7ae1) FOaferem: @ agea:
TMpord, TEBA| T T FATART FAocdd §Ed o FAY| dXA T T8I
AR Ukg RIg-Ueed Hcal &@: dAESd, o T i Remn
f&Tccar 3 AT |
fohed T T PO Aeard AT AT e W] dF vfdfee
JIAE: T STl al-THe - aRUT-gNaiGA-aMaeid-elenigfa:  dacard
AT fAaTaeT: Aeaagefaarid |

Tchel T HETIHAVT JICATE FURMH FTEA| dF hd: 3T T
3 A TET Bl gordl AFSUn e ey aREdesuraad
Faud 9 | a8 URA 3T8d FRENG Abcar  Tofderas
SIGNIEREICE
HEBIRA-JS AHSUT: TR JGTT FAUR: 3T Tl TEATET 316led
ARFASEA| JeT T 3Hole: ol O 7 aeafeus: aeag Rurde
TSCAl HIgH 3URTESd dal $9Tale] AHsor: qE M/ 3uce AU |
MAIH 3cA=: 3FRcad, ufesed, RT|I FeMsT TARET FATAQY
HIAY GRITUA |
TRAld T AMFS: GIRRT TSATHEHAHA Hedd| did d&d el

5 : S | ilol EEESICE |€i3ii|§l|5|irﬂflil liiIEHI |3|a.~[“ifl




HRART: dootid ERfed, a8 ufdan: gerafed, seafed = -

"cpwwg Tl TdIH" |

3T Go: S ARTS SAfafder au=a-

3 e |
F‘lraq:l(_-li
4, 2



RS TfScar URET YGHCH AT -

A AFARREAURY 30 aId | 37T FOUT:, FOUIEIUTL:,
qmaﬁamraws%am—cmﬁ‘mmw rasSTT ACdl, AT
T, AR I, ey Udr 7 |
3 AR IAedde A RH-IJH-TH -37Ud- ToT Tl faersa
"Jecara:” sfd ufdElsslad | ¢ fAcud 9o IEAd dTAd o
ERIITCH

3T HAGHIRATT &hdl | #Rd aAdifel YA dfed |
IEAA Ie) 3rscreel Uaifol dded | Idol deEl AR #Rd ddd |

AEIARA ‘ UsdAl dg:’ 3fd ufdadA| HgeRaEd © 99 330 A
[ECUCH

HEAENOT 3rscrey  quonta sugentar @ fAf@art= | qufy Few sfa
WUeEd  fAsufcd: | qUO  SEEdUHAEdH, Schse datd |

SEAGATOT HEHNA IO o T AT decdrd: HeAeliod ATesid |
3d: ARGIGN HARIEd: A7 FoEaid afaea enfeaased |
INEAET  qiotAlfe  “Ieqiotar  sgar ¢ egmqoAr 3 S
AT | dfeel SR Al $dfed | F: AtS: AR add|

ey At vat & 9:-

Hcgadr @Rt
4,
Correct Answer :-

_ HoIadTwrRRT



*) HrarafyeamT: TgdereT SRR g9t aftia: ?

L 99

121
2

oY
3.

i4C]
4,

Correct Answer :-
151



RS TfScar URET YGHCH AT -

A AFARREAURY 30 aId | 37T FOUT:, FOUIEIUTL:,
qmaﬁamraws%am—cmﬁ‘mmw rasSTT ACdl, AT
T, AR I, ey Udr 7 |
3 AR IAedde A RH-IJH-TH -37Ud- ToT Tl faersa
"Jecara:” sfd ufdElsslad | ¢ fAcud 9o IEAd dTAd o
ERIITCH

3T HAGHIRATT &hdl | #Rd aAdifel YA dfed |
IEAA Ie) 3rscreel Uaifol dded | Idol deEl AR #Rd ddd |

AEIARA ‘ UsdAl dg:’ 3fd ufdadA| HgeRaEd © 99 330 A
[ECUCH

HEAENOT 3rscrey  quonta sugentar @ fAf@art= | qufy Few sfa
WUeEd  fAsufcd: | qUO  SEEdUHAEdH, Schse datd |

SEAGATOT HEHNA IO o T AT decdrd: HeAeliod ATesid |
3d: ARGIGN HARIEd: A7 FoEaid afaea enfeaased |
INEAET  qiotAlfe  “Ieqiotar  sgar ¢ egmqoAr 3 S
AT | dfeel SR Al $dfed | F: AtS: AR add|

TRTOC 3UTETHA 3T e ARAcTS TIFIATd-

4 r

Correct Answer :-

Topic:- English (ENG)



1) Choose the synonym for the underlined word in the given sentence.
Their uncouth laughter sounded loud in the room.

1. gracious

2. suave

3. civilized

4. coarse

Correct Answer :-

» coarse

2) Choose the antonym for the underlined word in the given sentence.
The instructions look very complicated, but I will try to fix it.

1. tortuous

2. meandering

3. convoluted

4. straightforward

Correct Answer :-
« straightforward
3) Choose the appropriate suffix to get the noun form of the underlined word in the given sentence.

The Taj Mahal is a magnificent building.

1. magnificence
2. magnanimous
3. magnanimity

4. magnificently

Correct Answer :-

» magnificence

4) Choose the appropriate modal to fill in the blanks.
Ifit____ rain, they will not come.

1. can

2. may

3. might

4. should

Correct Answer :-

e should

5) Choose the appropriate adverbial clause to fill in the blank.
The stolen goods were found

1. outside the garage



2. where the dacoits usually hid things
3. in the dacoit’s hiding place

4. and the police confiscated them all

Correct Answer :-

» where the dacoits usually hid things

6) Choose the appropriate tense to fill in the blanks.
Everyday, the shop _____ at 8 in the morning.

1. will opens

2. would opened

3. opens

4. open

Correct Answer :-
e opens

7) Choose the appropriate phrase preposition to fill in the blank.
introduction, he made some pertinent remarks.

1. On way of

2. On the way

3. By way of

4. In the way

Correct Answer :-

» By way of

8) Choose the appropriate phrase to fill in the blank.
She ______ the people standing nearby.

1. yelled at

2. yelled into

3. yelled out

4. yelled off

Correct Answer :-

o yelled at

9) Choose the appropriate articles to fill in the blanks.

____hour at __ house is enough to give you an impression about the family that lives there.
l.a,a

2.a,an

3.an, a

4. an, an

Correct Answer :-



10) Choose the appropriate noun clause that could replace the underlined part of the given sentence.
hurts me.

1. Cheating

2. The statement

3. That you should cheat me

4. Even the thought of his suffering

Correct Answer :-
» That you should cheat me
11) Choose the appropriate idiom to fill in the blank.

There will be in today’s interview.

1. no holds barred
2. holding pattern
3. hold of

4. hold all

Correct Answer :-

» 1o holds barred

12) Choose the appropriate idiom to fill in the blank.
Despite the slump in crimes, the Superintendent has been
1. at the wrong foot of the sergeant

2. running the sergeant off her feet

3. landing the sergeant in her feet

4. rushed the sergeant into her feet

Correct Answer :-

» running the sergeant off her feet

13) Choose the appropriate determiner to fill in the blanks.
The climate of Belgavi is like _____ of Pune.

1. these

2. this

3. that

4. those

Correct Answer :-
o that

14) Choose the option that correctly changes the voice in the given sentence.

The officer asked me my name and he jotted it down.



1. I asked my name by the officer and jotted it down by him.
2. I was asked my name by the officer and it was jotted down by him.
3. My name was being asked and had been jotted down by the officer.

4. My name was asked by the officer and he jotted it down.

Correct Answer :-

» I was asked my name by the officer and it was jotted down by him.

15) Choose the option that correctly changes the voice in the given sentence.
The captive was bound to a tree.

1. The captive was bound to a tree by someone.

2. A tree was bound to the captive by someone.

3. Someone bound the captive to a tree.

4. Someone bound the tree to a captive.

Correct Answer :-

» Someone bound the captive to a tree.

16) Choose the option that best transforms the simple sentence into a compound sentence.
To his eternal disgrace, he betrayed his country.

1. His betrayal of the country brought him disgrace.

2. He was disgraced by the betrayal of his country.

3. Eternal disgrace is the result of the country being betrayed by him.

4. He betrayed his country, and this was to his eternal disgrace.

Correct Answer :-

» He betrayed his country, and this was to his eternal disgrace.

17) Choose the option that best transforms the given interrogative sentence into an assertive sentence.
Why waste time reading trash?

1. Is it wasting time when one reads trash all the time.

2. It is extremely foolish to waste time in reading trash.

3. Must you waste time reading trash foolishly

4. Wasting time is foolish because one reads trash, isn’t it?

Correct Answer :-

« It is extremely foolish to waste time in reading trash.

18) Which of the following is not one of the characteristics of English Language?
1. It is evolving over the years

2. It is used for communication

3. It is inborn and need not be learnt

4. It is acquired through training

Correct Answer :-



« [t is inborn and need not be learnt

19) Which of the following is true in the context of using effective teaching learning materials in class?
1. Teaching without any materials helps in enhancing creativity

2. Use of materials fail to break the monotony of the teacher-centered classrooms

3. Use of relevant materials makes completion of the task very difficult

4. A task without any material seems quite boring and burdensome

Correct Answer :-
» A task without any material seems quite boring and burdensome

20) Read the following letter and answer the given question.

To,

Whomsoever it May Concern

I have had the pleasure of employing Joy Jen for five years. Joy has handled many responsibilities in these five years. She has handled
customer interaction, inventorying, and content writing for our website, Joy is an intelligent, responsible, energetic lady who never loses
her cool in any crisis. I am sure that Joy will perform any responsibility given to her with care and maturity.

Yours sincerely

Susan Sanders

CEO

J.0. Enterprises

According to Susan, which of the following comments is true about Joy?
1. she will be composed in the face of a crisis

2. she will panic in the face of a crisis

3. she will handle all crisis with trepidation

4. she will handle all crisis with apprehension

Correct Answer :-
» she will be composed in the face of a crisis

21) Read the following report and answer the question given below:

Healthy Eating Mela

Students from the Ganapur High School organized a Healthy Eating Mela to spread the message of good food habits. The competition
included events like Cooking without Fire, Conjuring Salads, and Watch the Calories. Our chief guest for the day was the famous nutritionist
Ms. Kamala Madhav. She spoke to the students about what is healthy and what is unhealthy food. The day must certainly have found
several converts from junk to healthy food.

Based on this given report, what does the author say must have been the consequence of the event?
1. Students would abandon healthy food habits and turn to junk food

2. Students would give up junk food and adopt healthy eating habits

3. Students would think that junk food is healthy and continue to eat it

4. Students would understand that junk food is not unhealthy

Correct Answer :-

» Students would give up junk food and adopt healthy eating habits



22) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of ‘Make in India’ — a lion made of gear wheels — itself reflects the integral role of manufacturing in government’s vision and national
development.

Apart from making India a global manufacturing hub, the Make in India initiative seeks to do a few more things. Which one of the following
options in NOT one of them?

1. safeguard intellectual property
2. encumber skill development
3. nurture innovation

4. succor job creation

Correct Answer :-

« encumber skill development

23) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced muitiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of '‘Make in India’ — a lion made of gear wheels - itself reflects the integral role of manufacturing in government’s vision and national
development.

According to the passage, which of the following is not among the sectors of economy about which details could be obtained from the
official website?

1. Information Technology
2. GDP
3. BPM

4, Automobile

Correct Answer :-

 GDP

24) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of ‘Make in India’ — a lion made of gear wheels - itself reflects the integral role of manufacturing in government’s vision and national
development.

Which of the following options best expounds the logo of Make in India as given in the passage?

1. the lion indicates the integral role of the foreign manufacturing sector and the gear wheels symbolize their nation



2. the lion indicates the integral role of the multinational companies and the gear wheels symbolize the domestic companies
3. the gear wheels indicate the integral role of the Indian manufacturing sector and the lion symbolizes the nation

4. the gear wheels indicates the integral role of the Information Technology and the lion symbolizes the Business Process Management (BPM)

Correct Answer :-

« the gear wheels indicate the integral role of the Indian manufacturing sector and the lion symbolizes the nation

25) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making India a global manufacturing hub, by
encouraging both multinational as well as domestic companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the manufacturing sector to 25% of the Gross Domestic
Product (GDP) by the year 2025 from its current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector. It targets 25 sectors of the economy which
range from automobile to Information Technology (IT) & Business Process Management (BPM), the details of each can be viewed on the
official site. It also seeks to facilitate job creation, foster innovation, enhance skill development and protect intellectual property. The logo
of ‘Make in India’ — a lion made of gear wheels - itself reflects the integral role of manufacturing in government’s vision and national
development.

According to the passage, which of the following is NOT one of the initiatives introduced as part of Make in India?
1. promote foreign direct investment

2. develop the manufacturing sector

3. protect multinational companies

4. implement intellectual property rights

Correct Answer :-

« protect multinational companies

26) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

How did the husband’s opinions differ from the wife's?
1. They were always as good as new

2. They were always serviceable with no reason to discard
3. They were always having to be replaced

4. They were practically never having to be replaced

Correct Answer :-

» They were always having to be replaced

27) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband's, as she noticed, were always having to be replaced. In the early



days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

What were practically ‘as good as new’ and inherited by the wife?
1. quaint pleasure opinions

2. everyday prejudices

3. serviceable heirlooms

4. stout set of practical ideas

Correct Answer :-
» everyday prejudices
28) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

What is the implication when the author calls the wife’s opinions *heirlooms’?
1. that they gave pleasure

2. that they were about her hair

3. that they were inherited

4. that she was proud of them

Correct Answer :-
« that they were inherited
29) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their descent. She was proud of their age, and saw no
reason for discarding them while they were still serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt Sophronia she had inherited a stout set of every-day
prejudices that were practically as good as new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she had long since been silenced by the reply: "My
dear, I'm not a rich man, but I never use an opinion twice if I can help it."

According to the passage, the wife's everyday prejudices were inherited from__?
1. the Crown derby

2. Aunt Sophronia

3. her husband

4. her great grandmother

Correct Answer :-

* Aunt Sophronia

30) Read the poem carefully before answering question:



Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

Whose loss is the poet mourning?
1. maiden Lenore

2. forgotten lore

3. a late visitor

4. bleak December

Correct Answer :-

« maiden Lenore

31) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—



Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

What is the rhythmic structure evident in the first line?
1. iambic pentameter

2. spondaic hexameter

3. anapestic monometer

4. trochaic octameter

Correct Answer :-

« trochaic octameter

32) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

What does the poet eagerly wish for even in the midst of his sadness?
1. visitor

2. books

3. books of sorrow



4. tomorrow

Correct Answer :-

e tomorrow

33) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

Which of the following figures of speech best describes the use of the words ‘tapping’ and ‘rapping’ in lines three, four, and five?
1. Alliteration

2. Litotes

3. Personification

4. Onomatopoeia

Correct Answer :-

* Onomatopoeia

34) Read the following notice and answer the given question
Green National School, Mathura
NOTICE
28 January 2019
This is to inform all students that our school is organizing a 2 day field trip to the Wipro Industrial Estate. The details are as follows:
Classes: VIII to X

Dates: 23 February to 25 February



Those who are keen on registering for the trip must pay 1500 rupees to Ms. Ritu, Biology teacher before 31 January.

Principal

Where will the students be going during the field trip?
1. Mathura Industries

2. Wipro Industrial Estate

3. Biology lab in Mathura

4. Fields near the school

Correct Answer :-

» Wipro Industrial Estate

35) Read the following advertisement and answer the given question.
ADVERTISEMENT

KENDRIYA VIDYALAYA, AMEERPET

Walk-in Interview for part time SQUASH COACH on 3rd July, 2018 at 10 a.m at the Vidyalaya campus. For more details please visit
kvameer@kv.in. Eligible candidates must attend the interview with original and attested copies of educational qualification and work
experience. No TA/DA will be paid for attending the interview.

Sd/-

Principal

What are the documents that the interviewees ought to carry to the interview?

1. Both Notarized and photocopies of documents related to education and work experience
2. Both original and attested copies of documents related to education and work experience
3. Only attested copies of documents related to education and work experience

4. Only original documents related to education and work experience

Correct Answer :-

» Both original and attested copies of documents related to education and work experience

36) Read the following poster and answer the given question
DJ SCHOOL CLUB
is
organising a Diwali Mela
to
bring light and happiness into everyone’s life
Venue: TK Stadium, North Campus
Date: 7th to 9t November
Time: 6 p.m. to 9 p.m.
Entry fee: Adults 20/- Children 5/-
Let’s make this Diwali cracker free
Sponsored by

Ronex



Which of the following statements is not true based on the information from the poster?
1. The Mela is sponsored by Ronex and organized by the DJ School Club

2. The club will charge an entry fee for those who wish to join the Mela

3. The organizers will distribute free crackers during the celebrations

4. There will be no pyro techniques displayed during the Mela

Correct Answer :-

» The organizers will distribute free crackers during the celebrations

37) Read the following letter and answer the given question.

Dear Dev

How are you? I am sure that your studies must be keeping you busy. I am glad to tell you that I have now been selected to the theatre
group. We have a play coming up next month at Rangashankara. It is a big deal. Remember, we had once met the who's who of theatre and
cinema at Rangashankara. Maybe, my dream might come true and someone will notice me for a small role in the movies. Well, enough of
day dreaming. How are things at your end? When is that big test of yours? Do write to me as soon as you could.

Yours truly

Jo

According to the letter, what does Jo hope might happen at Rangashakara?

1. he will be noticed by an influential person who might offer him a role in the movies
2. he will be introduced to the greatest personalities from theatre and cinema

3. he will fumble his part in the upcoming play and lose his face

4. he will win the best actor award at the upcoming play

Correct Answer :-

» he will be noticed by an influential person who might offer him a role in the movies

38) Read the following letter and answer the given question.

To
The Recruitment Officer
Anganwadi, Bidar

Dear Sir,

I wish to apply for the post of Anganwadi worker at Bidar. I have completed my Matriculation with First class. The Principal of my school,
Bidar High School, is willing to give you a reference for my conduct. Please consider my application. I will work hard and do my best.

Thank you.

Kishan Raj

Fill in the details based on the letter.
Name:
Post:

Education:



Referee:

1. Recruitment Officer, Anganwadi worker, 12th Grade, Principal of Bidar High School

2. Recruitment Officer, Anganwadi worker, First Class, Principal of Bidar High School

3. Kishan Raj, Recruitment Officer, Matriculation, Anganwadi worker at Bidar High School

4. Kishan Raj, Anganwadi worker, Matriculation, Principal of Bidar High School

Correct Answer :-

» Kishan Raj, Anganwadi worker, Matriculation, Principal of Bidar High School

39) Read the following letter and answer the given question.

To
The Editor

The Hindu

Dear Sir,

In response to the news about the Municipal Corporation of Hibbalpur converting the public park into a bus stand, I would like to express
my strong displeasure as a citizen. There are very few public parks in the Hibbalpur locality. Moreover, shifting the bus stand there will
increase pollution in an otherwise clean residential area. The Corporation is sure to face more severe protest from the residents of Hibbalpur
in the coming week.

Yours faithfully,

Krishna Swamy

What would be the dominant tone of this letter?
1. complaisant

2. congenial

3. irate

4. insolent

Correct Answer :-
o irate

40) Read the following letter and answer the given question.

To,
Communications Skills Training

Munnar, Kerala

Dear Sir,

I write to enquire whether your company would offer a 5 day Communications skills workshop for our new recruits at HR Customer
Services, Munnar. We have a group of 25 fresh graduates who need training in customer interaction, etiquettes, presentation and such
other skills. If you could send us the details about your training program, the cost, and the trainer profile, we could fix an appointment
accordingly.

Thank you
Manager

HR Customer Services



Which of the following are among the details that the Manager asked for from the Communications Skills Training company?
1. the details about the program offered by Communications Skills Training

2. the profile of the new recruits at HR Customer Services

3. the cost of several communication skills materials available in the market

4. the cost of their Time Management course

Correct Answer :-
« the details about the program offered by Communications Skills Training

41) Read the following letter and answer the given question.

Dear Kaite

I hope you are well. I am waiting for the summer holidays. I'm writing to you because I want to invite you to visit me during the holiday
season. We could visit the heritage centers and museums or spend the day at the movies or wander around the shopping malls. Let me
know what you think. We could plan everything then.

Hoping to see you.

Jainne

Which of the following is not one of the things that Jainne suggests she and Kaite could do during the summer holidays?
1. spend the day at the movies

2. visit the heritage centers and museums

3. go swimming on the sunny beaches

4. wander around the shopping malls

Correct Answer :-
» go swimming on the sunny beaches

42) Read the following instructions and answer the given question.

Follow these guidelines when there are children with disabilities in the class.

FOR MATERIALS

« Get audiobooks through services like Bookshare, a free online library for students with disabilities
» Provide pictures of directions and schedules

* Use large-print text for worksheets

« Simplify directions with key words for most important ideas

* Provide colored strips or bookmarks to use when reading

According to the instructions given, which of the following options is not among the things that a teacher should do for the students with
disabilities?

1. Use audiobooks whenever possible
2. Use simple, key words to give important directions
3. Provide notes in advance for all the chapters in the text

4. Provide colored bookmarks to enable them to track their reading



Correct Answer :-

» Provide notes in advance for all the chapters in the text

43) What is one of the major drawbacks of the structural approach?

1. it taught language in meaningful contexts that learners could relate to

2. led to a fragmentation and trivialisation of thought by breaking up language into structures and skills

3. It gave learners language that could be used in real life situations instead of just the ability to use correct sentences in classrooms

4. it bridged the gap between “linguistic age” and “mental age”

Correct Answer :-

« led to a fragmentation and trivialisation of thought by breaking up language into structures and skills

44) What is one of the major problems faced in the implementation of the Continuous and Comprehensive Evaluation (CCE)?
1. teachers largely consider CCE as an integral part of the assessment process

2. the teachers integrate the assessment with the teaching-learning process

3. it is considered by teachers as an external activity that is to be followed after the completion of a topic/lesson

4. it is given significant attention by teachers to integrate into the teaching learning process

Correct Answer :-

« it is considered by teachers as an external activity that is to be followed after the completion of a topic/lesson
45) What is a major aim of remedial teaching?

1. to enable detention practices that would instill fear in a child

2. to dictate notes of every chapter so that a child could learn everything by heart

3. to put a child through grueling hours of drill so that he despises learning

4. to bring a child to minimal acceptable levels in each class

Correct Answer :-

« to bring a child to minimal acceptable levels in each class

46) What is the role of grammar in teaching language?

1. sensitise the child to language-sound structures

2. develop the imagination

3. reconstruction of the meaning of the attempted expression through imperfect English

4. tool for increasing the language repertoire and for understanding the construction of text “rhetoric” and argumentation

Correct Answer :-

« tool for increasing the language repertoire and for understanding the construction of text “rhetoric” and argumentation

47) What is the one of the methods adopted by the government to tackle the challenge of the multilingual nature of the Indian society?
1. the grammar-translation method

2. the information technology curriculum

3. the modern language policy



4. the three language formula

Correct Answer :-

« the three language formula

48) In mother tongue learning, speech progresses from ____ through __ to
1. one word, one sentence, several sentences

2. one sentence, two sentence stage, multi-sentences

3. one phoneme, a few morphemes, multi-vowel stage

4. one word, two word stage, multi-word sentences

Correct Answer :-
» one word, two word stage, multi-word sentences

49) According to Norbert Schmit (2000) “whereas the of a language is largely in place by the time a child is 10 years old . . .,
continues to be learned throughout one’s lifetime.”

1. grammar, vocabulary
2. order, structure
3. structure, order

4. vocabulary, grammar

Correct Answer :-

e grammar, vocabulary

50) Listening and Reading proficiency in language learners mainly develop ___ sKills.
1. expression

2. comprehension

3. articulation

4. delivery

Correct Answer :-

» comprehension

51) Which one of the following is NOT a correct statement?
1. Writing is an important Language Skill

2. Listening is an important Language Skill

3. Reading is an important Language Skill

4. Reckoning is an important Language Skill

Correct Answer :-
» Reckoning is an important Language Skill
52) Which of the following statements is true in the context of sentence construction in a language?

1. when compared to organizing words, there is no order of organizing sentences in any language



2. Like in the case of organizing sentences, there is no order of organizing sentences in any language
3. as compared to the level of sentences, language is more tightly organised at the level of words

4. as compared to the level of words, language is more tightly organised at the level of sentences

Correct Answer :-

» as compared to the level of words, language is more tightly organised at the level of sentences

53) Which of the following is an important consideration when choosing teaching materials for a class?
1. need to be as confounding as possible in the extend of texts that will be used

2. need to be sensitive to perspectives of equity (gender and societal) and harmony

3. need to be rigid and inconsiderate to the cultural and local contexts of learning

4. need to be circuitous when deciding the concepts to be dealt with in class

Correct Answer :-

» need to be sensitive to perspectives of equity (gender and societal) and harmony
54) Which of the following is one of the aims of teaching English Poetry?

1. enable students to solve puzzles

2. enable students to write an essay

3. enable learners to prepare reports and brochure

4. enable learners to appreciate rthythm and feeling

Correct Answer :-

« enable learners to appreciate rthythm and feeling

55) In the case of English words like ‘fun’, ‘rain’, and ‘fish’, how would you convert them into adjectives?
1. add ‘ion’ at the end

2. add ‘in’ at the beginning

3. add ‘y’ at the end

4. add ‘a’ at the beginning

Correct Answer :-

» add ‘y’ at the end

56) Choose the closest meaning of the underlined phrase in the given sentence.

The act of burying a dead person sometimes becomes mundane for an undertaker.

1. Internment

2. Interstitial

3. Interment

4. Intermittent

Correct Answer :-

o Interment



57) Choose the closest meaning of the underlined phrase in the given sentence.
After the event he felt weak and tired.

1. encomiastic

2. energized

3. enervated

4. engineered

Correct Answer :-

e enervated

58) Satish was out of office when he got a call from the onsite supervisor asking him to immediately send the office assistant with the BMP approval form to the
Head Office in Andheri. Govind, Satish’s colleague, has to fill the following out of office form passing on the

)

(Name), send with to in Andheri.

1. Office assistant, Govind, BMP approval form, onsite supervisor
2. Govind, Satish, Head Office, BMP approval form
3. Satish, office assistant, BMP approval form, Head Office

4. Satish, Govind, BMP approval form, Head Office

Correct Answer :-

« Satish, office assistant, BMP approval form, Head Office
59) Change the given sentence into direct speech.

He urged them to be quiet and listen to his words.

1. He wished, “that they were quiet and listening to his words.”
2. He enquired, “are you quiet to listen to my words?”

3. He exclaimed, “you are quiet and listening to my words!”

4. He said, “be quiet and listen to my words.”

Correct Answer :-

» He said, “be quiet and listen to my words.”

60) Change the given sentence into indirect speech.
He said to them, “will you listen to such a man?”

1. He asked them to listen to such a man

2. He asked them whether they would listen to such a man.
3. He said that they will listen to such a man.

4. He said to them that they will have to listen to such a man.

Correct Answer :-

» He asked them whether they would listen to such a man.



